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1. A machine worker placed a cylinder
with a diameter of 18 cm between the
plates of a hydraulic press. If he
applied a 4.25x105 N force to the
cylinder, the stress on the end of the
cylinder due to the applied force is
Ax10'Pa. What is the value of A?

a 1

b. 172
c. 13
d 167

2. Echois produced by' reflection of sound
wave from denser medium. What is the
phase change between sound wave and

echo?
a O
b. 180°
c. 270
d 90

3. Hook's law states that within
proportionality limit
a. stress is less than strain
b. stress and strain are equal
c. product of stress and strain is constant
d. ratio of stress and strain is constant
4. In double slits experiment, two slits are
0.2mm apart with a screen at a distance
of 1m. The third bright fringe is found to

be displaced at a distance 7.5mm from
the central fringe. What is the value of

wavelength?
a. 0.03mm
b. 0.004mm
c. 0.00006mm
d. 0.0005mm
5.  Which of the following does not affect
speed of sound? '
a. density
b. pressure

c. temperature
d. allof these

6. Which of the following is/are same for all
isotopes of an element
a. proton
b. electron
c. neutron
d. botha&b

8.

9.

10.

1.

7. Unit of magnetic fiux i

a. tesla

b. NA'm
c. weber

d bothb&c

A magnet is passed through a solenaus
from right to left as shown in figyrg -

AARAAT AR
l ]

e,
i

a. Curment flows from X to Y when magnet

leaves the solenoid

b Current flows from Y to X when magnet

leaves the solenoid

c. Current flows from X to Y when magnet

enters the solenoid
d  none of these

In which medium speed of sound is
maximum?

a. gas

b water

C. solid

d bothbg&c

A 9ar at rest starts moving with linear
uniformly increasing velocity. After 20
Seconds it attains the maximum velocity
of 80 m/s. What is the distance covered
during this time interval?

a. 200m
b. 400m
C. B0Om
d.  1600m

C_onditn:on for light passing through
dnffracuoq grating to undergo
constructive interference is that the path

difference between two consecutive rays
must be equal to

a. 3n2

b. A2

c. A

d 02A

Scanned with CamScanner



12. Which of the foliowing Is true conceming
the diagram below?

a. |1ﬂz*|3*|4*|5=0
b, ly-lp-lg+l4-I5=0
C. -'1"'2413-[4‘*'5:0
d bothbéac
13. Energy stored in a stretched wire is
given by

s 3(5)

1, EAF

EA

C. I(sz
d §(55)

14.

15.

According to First law of
thermodynamics

a. lotal energy of a system remains constant
b. total internal energy of a system during a

process remains constant

c. %mﬂkmapd entropy during a process

d.  work done by a system equals to the heat

transferred by system

A Vemier Calliper has 1mm minimum
reading on main scale and 10 numbers

of divisiong on vemier scale. What is its
least count?

a  0.5mm
b. 1mm

c. 0.1mm
d  0.05mm

16.

17.

18.

19.

20.

21.

Velocity-Time graph for a body motion is
shown in figure below;

Acceleration of this body will be:

zero
uniformly increasing
constant

uniformly decreasing

a0 oo

Unit of electromctive force is
Farad

Coulomb

Newton

Voit

a0 oo

Unit of strain is

a Nm?
b Pa

C. nounit
d N

When a B particle is emitted out of any
nucleus, its atomic number

a increase by 1

b decrease by 1

€ remains same

d  decrease by 2

One Coulomb equals to

a Kgms?
b. Kgm3s?
c. As

d. Nounit

If the resistance of a conductor is zero,
current will be

a. minimum
b. infinity

c. zero

d.  maximum

Which of the following has one value of

specific heat capacity?
a. gases
b liquids
C. solids
d bothb&e
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23.

24,

ht
An alrcraft I moving along &Iit straig
ath with constant velocity, Its
acceleration will be:

a. cOﬂSlant
b. zero

¢. maximum
d. uniform

Find 105.30 + 34.203 + 0.005 corrected

up to suitable significant figures:
a. 139.51
b. 1395
c. 139.508
d. Allare true

25. X-rays having wavelength of 22pm are

scattered from a carbon-14 target. The
scattered radiations are being viewed at
55" to incident beam. What is change in
wavelength?

2.0pm

1.0pm

2.9pm

3.5pm

a0 o

26. Water having volume flow rate of 0.03

27.

28. Both constructiv

29,

m3/s strikes a perpendicular flat surface
with 3 m/s velocity. What is the force
exerted by the water on the surface?

a. 100N

b. 0.09N
c. 90
d. 980

The heat absorbed or rejected by the
working substance is given by

a AQ=TS

b. AQ=mcaT

C. AQ=CAT

d AQ=T/S

e and destructive
interference between two waves takes

place equally when the w
phinss b aves are out of

o

metres in next 4

be relation beMetrc?(ngnt: eyn what wil
8 X=4y )
b.  Y=4x
C. Y=16X
d  X=2y

30. Work done by Magnetic force
a 1

b. 0

c. IvB

d. infinite

31. Unit of blood pressure jg

a. tomr

b. Pascal

c. allof these
d  N/m?

32. Find the velocity of discharge th

orifice 2.5m below the water Surface? "

a 3.5m/s
b. 4.0m/s
c. 6.5m/s
d 7.0m/s

33. Ultrasounds are extremely important in

a. medicine

b. submarine navigation
c. sound systems

d. telecommunication

34. Average translational kinetic energy ata

certain temperature:

a.  None of the above

b. Depends on the type of gas

c. Depends on the number of moles
d. Is always same for all the gases

35. At room temperature which of the

following gas has the highest average
translational kinetic energy?

a. H 2
b. He
C. COz

d. Al have equal

36. Ultrasound has frequency greater than

a. 20 Hz

b.  13500Hz
C. 20000Hz
d.  50000Hz

37. A manufacturer wants to design 8

pressure vessel with safety sensors

a purpose to cut off the steam supply
when either pressure or temperature
reach critical limits defined by costumer.
What type of gate operation he should
use to meet the purpose?

a. AND
b. NAND
c. XOR
d OR
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mw?ssdpoam is associated

kS - &  128kPa
Wl
a longhudinal waves 2 :3 3:?
- a
p  Trensverse waves d  140kPa
sound Waves - N
c = S : .
¢ alofthese S- Jentify the following protein structure:-
2 Which of the following gas behaves like R P
N ideal gas? L e
* . :@0 0
a N2 Sig.
b O
c Ne ) i
¢ CO; L i il
20, The maximum distance between the '
mosecule of gases can be
a ze0
b 100cm
c. infinite in b 3
d none of these
41. 2.04m” water flows from a height of 15m a i Primary, ii. B-pleated, iii. c-pleated
and runs a turbine. What is the power b. i. Primary, ii. Tertiary, iii. Secondary
transmitted by water to the turbine? C. i Primary, ii. Quaternary, ii. Secondary
a 200kwW c. 100kW d i Prmary, ii. B-pleated, i g-helix
b 400kW
d  300kwW 51. Which of the following has the strongest
42. The pressure exerted by a real gas is bond?
the ideal gas a CH3-F
a Greater than b, CH3-1|
b. Equalto c. CH3-O
c. Lessthan d CH3-Br
d N°"° of the above ) o A student sprayed water to a ribbon of
43. What is the average translational kinetic 52. CrCl3 and the color changed to violet.
energy at 200 K?

CrCly + 8H,0— Cr Cl5 . 6 H,0
a 4.14x10%Y 3 2 3 2

b. 6.14 x 1021y In this eQL’x?ation, what is the complex ion
c 311x10%Y produced
d 138x102Y a  [Cr(H0)CIP"
44. Gases behave ideally when temperature .
is____and pressure is T b, [Cr{H20)Cl]
2  Low, high ¢ [Cr(H0)%ChP’
b High, low
. 3.
C. Low, low d  [Cr{HO)]
d ; ,
i 53. Calculate the root mean square speed cf

A 15m high reservoir is shown in the

" i °C in cm/s.
S m'u‘e"emyom'ﬁewateratmeexn 10 g butane at 30°C in crm/s

:ndws' ider the flow is irrotational a 34cmis
Steady through the pipe. Find the b 3.6x10° cmis
- A c. 740 cm/s
Wm A d 63cmis
ny- g 54. Which of the following is not the family of
4 ! tetrahedral?
l a  Trigonal pyramidal
\ ) b Angular tetrahedra
) I-'_“T‘M,__"z_:;‘ c. Benlt
o e d. Square planar

- - s ' B PO
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55. Two moles of Oz (g) is used to heat 60. Which of the folies

1o produce 1 moie of a
maos‘:isocc(zsn)xpognd in a small closed | reduced 1o aldehydgs FCThopy Canyy
fgumace. What is the ratio of final a | orla
sure at 616 K to the initial pressure 5 Bosopth‘ A° andlcooua
at 308 K? Assume all reactants are e Wong
converted to products. . icof
d. Grain alcohol
a 05
b. 4 61. Which of the f; ing has )
c. 1 ionization energy? hl’@!ﬁ
d 2 ==
58. Name this skeletal structure: b. S
c. Si

d p
/\ O/\ 62. A chemical engineer wants 1o use the

Haber process in order lo produce
ammonia as raw material for fertiizers

a  2-Ethancic acd Which of the foquing parameters must
bt 5 e ;hbeta ghemnr.al engineer :fvold in ord‘:f o
‘E“' 3 in maximum a :
c. Diethy! ether yieklof swnock
d.  2-Diethanal N2(g) +3 H, (g)2NH; (g) AH=-926 2
57. Whatis the % relative humidity at 25°C a.  Increass the temperature
and 0.01876 atm if the vapor pressure of b.  Use a catalyst
water Is 23.76 mm Hg. c. Adding more nitrogen gas
a. 40% ' .
d |
e ncrease the pressure
Z ;30% 63. Increasing number of CFC production for
0% industrial use has been a major
contributor for the depletion of ozone
S8. Classify this alky! halide; molecules in the strat‘:)sphere. When
CFC diffuses slowly to the atmosphere i
the presence of UV light between 1750
“ to 220nm, ozone layer decomposes. If
CI there is 1 mole of CFCl3 (Freon-11) has
been released to the air, how many
moles of oxygen is produced from the
photodecomposition of ozone?
a 1
b. 2
a.  1° alkyl halide c. 3
b 2 alkyl halige d 4
c 3 .
P :::V' halide 64. What is formed by a series of complex
yl halide reactions of ozone with water in the "
59. What is the color of the precipi troposphere that are driven by suniight?
rady’s reagent is yseq to tee;pttate e 8.9, 0 fadical
zaldehydg & b. H radical
8. Green . c. OH radical
b Brown d.  H3O radical
€ Magenta
d. Reg
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1ch the following classification of
65. Mo d on the basis of side chain

amino aci
i Non polar a. Arg
ii. Polar b. Asp
iii. Acidic ~ c.Asn
jv. Basic d. Ala

a i.anda,iiandb,iiiandc, ivand d
b. i.andb,iiand a,iiiandd, ivandc
c. i.andd,iiandc,iiiandb,ivanda
d. i.andc,iiandd,iiianda,ivandb

66. Which of the following is not a primary
pollutant of the troposphere?

a. Carbon dioxide

b. Sulfur dioxide

¢. Carbon monoxide
d. Ammonia

67. Arrange the following according to
increasing ionization energy: Li, Be, Na,
Mg.

a Li<Be<Na<Mg
b. Be<Li<Na<Mg
c. Mg<Na<Li<Be
d. Na<Li<Mg<Be

68. Classify this alkyl halide:

a.  1°alkyl halide
b.  2° alkyl halide
€. 3°alkyl halide
d. 4°alkyl halide

89. What is common when carboxylic acid is
reacted with base or with alcohol?
a  Catalyst
b.  Formation of ester
€. Formation of salt
d.  Formation of water

70. Jimmy went to a hospital to take some
laboratory tests. After he had gotten the
result, he found out that the count of his
red blood cells was 2.7 x 108 / L. The
doctor said that the normal adult male
hemoglobin count is 13.5 g/100 mL. Low
hemoglobin count would result to anemia
and high hemoglobin count would result
to polycythemia. If you were the doctor,
identify the condition of Jimmy,
Hemoglobin is
C2952H4664N3120832SsFeq. One red
blood cell is approximately 270 million
hemoglobin molecules.

a. Anemic
b. Cannot be determined
c. Normal
d. Polycythemic
71. Which functional group is not a double
bond?
a. Ethers
b. Aldehydes
c. Ketones
d. Eslers

72. Amygdalin is a naturally occurring
compound that is commonly found in
seeds of apricot and apple. If you eat at
least 200 of these seeds, it can be
deadly. What is this harmful byproduct
when amygdalin is reduced by enzymes

in our body?
H
HO o
OH
e O
HO O
OH
;
N
a. Cyanide ion
b. Hydrogen cyanide
c. Cyanohydrin
d. Cyano radical

73. Why water is added after the reduction
process of aldehyde and ketone with

LiAIH4?
Because water reacts violently with LiAIH4

a. .
b. Because water will protonate LiAIH4
c. Because water inhibits the process
d. Because it will result to alkenes

Scanned with CamScanner



74. In

75.

76.

{
56, Dorothy mefoo( vitamin B12
In 199 " o the IUCiur® O e
iscove obﬂlﬂm
or Its other n@ e cobalt as the

urrou
central atom and other complex
as multlden‘ﬂ“’

amine groups
functional groups

ligands.

Based on the chemical structure of
Vitamin B4z, what could be the
coordination number?

3
4

c oo

6

A laboratory experiment requires each
student to use 10g of caustic soda
(NaOH). A laboratory personnel opens a
new 909 g of sald salt. If 42 students
took exaclly the required amount of salt,
how much should be left in the conlainer
at the end of the experiment.

a. 1.07kg
b. 4899
c. 0897g
d. 0489 kg

Sodium chloride injection is used to
replenish fluid loss in the body. It usually
;or:lalfns cg;/o (wiw) NaCl. What is the

olé fraction of each com
i ponent in the
NaCl = 0.050, Water = 0.950
NaCl= 0.016, Water = 0.984
NaCl = 0.160, Water = 0.840
NaCl = 0.205, Water = 0.795

aoow®

77.

78.

79.

Yttrium barium copper oxige
(YBa;Cuy0y) Is a fameg ;
material ever discovered i he Ying
quantum physics. It bacomeg Workd of
superconductor when |t is Xposaq
liquid nitrogen. Calculate the Mass n
paercentage of yttrium, bariym
and oxygen in this Compoundj *pper,

a Y=13%, Bi!=41%.Cuu29%‘o.1
b. Y=17%, Ba = 39%, C“‘”".O:z::
c. Y=15%,Ba="52%, Cu=10y ¢,
d Y= 19%.88=41%.Cu-31%,0=9-,.

Catalytic hydrogenation of alkenes
exhibits

a.  Substitution reaction
b. Elimination reaction

c. Addition reaction

d. Condensation reaction

Mr. Peregrine Phillips burmed an
elemental sulfur powder on a Bunsen
burmer and coliected the smoke info a
chamber. He further oxidized the gas
that he collected in the chamber with a
catalyst. What could possibly be the gas
generated after oxidation?

a. Sulfurgas

b. Sulfur dioxide

c. Sulfur trioxide

d. Hydrogen sulfide

Phosphoric acid, H3POy, is one of the
main ingredients of soft drinks,
detergents, and fertilizers. Itcan b0
prepared with a series of reactions:.

Ps+ 50, — PO1o

P4Oyp + 6H0 — 4H3PO04

of
Let us say we allow 1000 kg ’
phosphorus to react with m
tank to yield 90% of tetra ¢ stop of

decoxide (P4O10). In the with wate? to

the reaction, we react it

7% of H3POx. HW'“"";:M
{:Idogrzm of H;éod that was '
after series of reactions?

a. 1565.72kg
b. 96546 kg

c. 275981kg
d. 2846 12 kg
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pick a correct pair about the difference

8l. echanism of
wween E1 and E2 mechanism o 8
:»:thyi bromide forming an alkene. " :"u‘:e‘:aa'gfir;are an alcohol using an
i - Yvhatis typically the
£1 Mechanism — Strong Base and Alkyl for ether to break dw}‘n . ;laagen}? used
s Halide a. NaBH4

b. HBr
C. Na2Cr207
d.  Grignard reagent

E2 Mechanism — Weak Base and Alkyl
Halide :
E1 Mechanism — Weak Base and Alkyl 86

. - Two rocket fuels below are determi
rmined
b. Halide by their high performance

E2 Mechanism — Strong Base and Alkyl
Halide NaHy (1) + O(g) — Ny (g) +

‘ 2H,0(l) AH =-623kJ
E1 Mechanism — Strong Base and Alkyl

c. Halide . : H2(8)+ %Oz(g)——f
E2 Mechanism — Strong Base and Alkyl - H0(l) AH =-286kJ -
Halide If equal masses of hydrazine and
' hydrogen are used, which of the
E1 Mechanism — Weak Base and Alkyl . following has better performance?
d. Halide
a. Hydrazine
E2 Mechanism — Weak Base and Alkyl b. Both have equal enthalpy of formation
Halide c. Hydrogen gas
d. Cannot be compared
82. Carbon monoxide is one of the products ) -
of incomplete combustion. How many 87. What happens if we react carboxylic acid
bonds does carbon monoxide have? with acyl chloride?
a 1 a. Itforms an acid anhydride
b 2 b. It forms an acyl halide
c. 3 €. Itdoes not react due to resonance
d' 4 ) d. Itdoes not react due to bad leaving group
33. Which of the following is correct 88. Which of the following transition metals
according to increasing boiling point? . has the highest variable oxidation state?
a  HO<HF>NH3<CH, ' a W
; b. Pt
b.  HF<CHNHy<H,0 ¢ Hg
c. HO<CH>NH3<HF d. Mn
: -89. What Is the cell reaction of:
d  CH <H0>NH;3<HF 2 a )
. ’ , 2+ -2+
4. Gendry Is a skilled blacksmith in Game Zn(s) Zn**(aq)| |Ni* (aq) Ni(s)
of Thrones. If Gendry was to make & 1M 1M
sword, he needed to prepare a furnace
where he could heat the metal for Zn*(aq)+2e” —
shaping. King Robert Baratheon asked 0= -0.76V
him to get a plece of metal to make him - Zn(s) E°=-0.
a twin-blade sword. Gendry then got a 24 . Ni E° =
Plece of metal and put it in the furnace Ni (aq)+2e — Ni(s)
until it glowed around 900°C. Then, he -0.25V
dipped it into 8 liters of water at 25°C '
until the water reached a final o. Ni2*+2Zn— Zn** +Ni
lemperature of 30°C after shaping. What :
Wwas the 7.51-mole twin-blade sword | b, Zn2*+Ni— Ni2*+2Zn
made of? The specific heat of the meta ) 2+ :
180.13 Jig °C, .. ¢ Zn**+Ni —';Z"”;’j
2 Steel o Zn+Ni—Zn*" +Ni
b. Copper . .
C. Silver
d.  Gold
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90. Calculat

91.

92.

93.

95,

97.

0
o the total lattice energy of 10

i if each has a
le salt in water o
rr:]ec:?;? ts)olution of 4 kJ/mol and heat

hydration of -784 kJ/mol.

a. 78400kJ

b. 78800 kJ

c. 19600 kJ

d. 313600 kJ
which of the pair of gases is not a
greenhouse gas?

a. carbon dioxide and methane
b. carbon dioxide and nitric oxide
c. nitrogen and oxygen
d. water vapour and ozone
Tetracycline is an antibiotic which blocks

protein synthesis of bacteria. the
mechanism of it is

Inhibiting binding of aminoacyl tRNA to
ribosome

Inhibiting translocase enzyme
Inhibiting initiation of translation

d. Inhibiting peptidyl transferase

Itching of anus is caused by

8. Ancylostoma duodenals
b. Ascaris lumbricoides

C. Enterobius vermicularis
d. Taenia solium

Peroxisomes
8. protect cell from toxic materials
b.  digest cell
C. break down fatty acids
d.  both A and C

Which of the following sets of bones
does not Include in axial skeleton?

8. Cranium ang facial bones
Stemum, ribs, vertebrag
Lumbar, thoraicic, ang pelvic bones
Pectoral girdle, pelvic girdle, and
appendages
Dlaphragm I8 a sheet of

&  Smooth muscles
b. Cardiac muscles
C. Skeleta] muscles
d. Allof the above

Choose the correct Combination
a.

b.
c.
d

Darwin -.. Sufvival of the fittast
Darwin - No extinction

b
€. Lamarck —. Acquired transmission
d. BothAgc

98. Glucose and fry

Ctose jqi
through ¢ foin (ogeth,,
6

——tofory SUcrgg

a. 14 glycosidic linkagg
b. 1,6 glycosidic linkage
. 1, 2glycosidic linkagg
d 1,3 glycosidic Iinkage

99. is activated to

EnIeroRnnase/enteropeptid%by
secreted the lining of duodenyy, ™

a. Pepsinogen, pepsin
b. Trypsinogen, trypsin
c. Pepsinogen, trypsin
d.  Chymotrypsinogen, chymotrypsin

100. Reabsorption of calcium is triggered by

‘a. Aldosterone
b.  Parathormone
c. Anti-diuretic

d. Vasopression

101. Which statement about the cell wall of
bacteria is correct?

a. Gram positive bacteria have more lipids in
their cell wall

b.  Gram negative bacteria have more lipids in
their cell wall

C. Lipids are absent in cell wall of both gram
Positive and negative bacteria
d.  Both have equal amount of lipids

102. Which of the following is not correct for
food web?

a.  Starts with primary consumers
b.  Formed from food chain

. Stable than fooq chain

d.  Complex than food chain

103. What is the risk of color blind baby boy in

a family when mother is color blind but
father is hormal?

a 259
b. 50¢
C. 759
d. 1009

104. The reason

plants are
totipotent jg considered

a.  Each cgl has fyy
organism
b. A single caly could
€. Because they have le
culturing
d. Bothaandb

genetic Potential of the
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w6 A long Shain of spharical bacteria, ke
e .ﬂan’*-;‘ -2 oaskiacs, s oaled_ .
DpErnetEs

[rancocTs

S[otviDDSE

S[erorE

sty suctose ravels in

th 0

%

e

[ I ]

Al O e ahove

427 wiich o 2 Rlowing i not true for
rEToVIUSSsT
= ey as udoca n shape
S ey are anvvalopad by host plasmas

ey have anoy™e reverse ranscriptsse

al of e are not spacific

108, Sroiten Fagment of mycelium give rise to
2 rew rmycsliom

Sroogh conidia

125, Irrer concave surface of Golgi complex
s caled face

———

i p

npoem

np TN

#10. Moiec:dar formuia of Chiorophyll B is:
2 CaHyp OgNe Mg

Cez HpOs Ny Mg

C  CasHpOgN: Mg

2 Cas HypyOp N Mg

111.Wimelnorycfmhxa!seledimls
essantially identical to Darwin's theory?

-

Wallace

or

%;j

€ Mathes
s separation of sister chromatids
non fusion
non disjunclion
fusion
ntederence

pAp o

113, Source of Taq polymerase

8 Thermus aquaticus
b Thermus floral
€. Floral aquaticus
d. Taq aquaticus
114, Analogous organs show

a.  Straight avolution

b.  Convergant ovolution
€. Zig-zag evolution

d.  Divergant avolution

115. Complete removal of is
necassary because If only head remains
Inside the intestine, it can grow again

a. lape worm
b. liver fluke
C. ascaris

d. pin worm

116. Auditory relay center is present in

a.. Left cerebral hemisphere
b. Mid brain

c. Hypo campus

d. Hind brain

117. The total aggregate of genes in a
population at any one time Is called

population's
a. Genome
b. Gene pool

c. Genomic library
d. Genetic group

118. Over grazing results into
a. Totally barren lands
b. Good pastured lands
c. Salinity
d. Rocky areas

119. Raw material for co-enzymes

a. Proteins

b. Metal ions

c. Carbohydrates
d. Vitamins

120. Antibodies are
a. ‘primary proteins
b. secondary proteins
c. tertiary proteins
d. quaternary proteins

121. In nitrogen fixation, nitrogen is converted
to
a. nitrate ions and ammania
b. atomic nitrogen
c. urea
d. all.of the above
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122. site of {ranslation is
a nuckeus
b. nucleolus
c. cytoplasm
d. ribosomes
423. Lymph nodes are not preser’
a. Neck region
b Axilla
<. Groin
d. Spleen

124. Guard cells function as
a. The defense system
b. Multisensory hydrauhc vaive
c. Hydrostatic pressure *3taialt

d. Al of the abo --
125. Stop codon signal the t: f.uwun of
translation by binding
a. release factors
b. amber
¢. ochre
d. opal
126._ cells store surplus food and

cells produce new cells for
growth and development of the plant
a. Parenchymatous; Meristematic
b.  Sclerenchymatous; Chlorenchymatous
c. Phloem; Meristematic
d. Parenchymatous, Chlorenchymatous

127. If there are 3 nucleotides in a genstic
code, how many different genetic codes
are possible to be formed?

a. 16

b. 64

c. 32

d. 48

128. is involved in lipid
e pids synthesis /

a,

Smooth endoplasmic reticulum

b.  Rough endoplasmic reticulum
€. Mitochondria
d.  Vacuoles

129. Which of the 1
ollowing |
cells of gastric glandg S not the type of
8 Zymogenic
b Parietal
C.  Sinusoidal
d. Mucous neck

130, According 1o pressyre Bow

PYOSSUTe in leaf e
PTOSSUNe in the ﬁ\:‘(‘ .
causes the water AMONg Wit < g

move from leaf to fry. ?Oktgs,e
a8  High high

b Hgh; ow
c.  Low: high
d Low; fow

131, Most simple amino acd i

8. Alanine
b \Valine
c. Ghuane
d. Lycne
132. are animals hetdy

adjust their intemal osmolanity gng

isotonic with their environment. -

a. Osmoconformers
b, Osmoreguiators

c. Thermmoregqulators
d. Thaemoconfermors

133. Secretion of pancreatic juice is
stimulated by:

8. Secrelin

b. Gastnn

c. Pepsinogen

d. Both secretin and gastrin

134. Left ventricle opens into

a. aora

b.  pulmonary trunk
C. pulmonary artenes
d. venacava

135. pH at which the activity of pancreatic
lipase enzyme is maximum

a. 8.00
b. 9.00
c. 740
d 920

136. Which of these single membran® °°”f,'d
organelles does not contain
a. Glyoxisome
b. Paroxisomes
c. Lysosomes
d. none
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ing i which of the
_Nasal opening is closed by
o fo;owing to prevent the food from

entering
g, Hard palate
b. Epiglottis
c. Soft Palate
d. Larynx
138. Which type of RNA is most abundant in
the cell?
a. mRNA
b. tRNA
c. rRNA
d. sRNA

139. bacteria have tuft of flagella
or one flagellum at each of the two poles
a. Lophotrichous
b. Monotrichous
c. Amphitrichous
d. Peritrichous

140. Two different pieces of DNA joined
together by DNA ligase form

a. Vector

b. Recombinant DNA
¢. Chimaeric DNA

d BothBandC

141. Which of the following is not the function
of proteins?

a.  Protection
b. Transport
c. Catalysis

d. Information Storage

142. Plasmids carry gene for antibiotic
resistance. Plasmid

& pSC 101 has antibiotic resistance gene for

tetracycline

b.  pBR 322 has antibiotic resistance gene for

tetracycline

C. pBR 322 has antibiotic resistance gene for
ampicillin

d.

All of the above are corract

143, Uring hever contains

8. Sodium iong

b.  Uric acig e
C.  Creatinine

d

Glucose

144, Hypoxanthine is the nucleobase of

a. cytosine
b. inosine
c. trypsin
d, Valine

145. Function of gall bladder is:
a. Secretion of bile into duodenum
b. Concentration of bile

c. Secretion of saveral digestive enzymes

d. All of the above

146. The enzymes of lysosomes are
synthesized on
a. RER
b. SER
c. Chloroplast
d. Golgi apparatus

147. why daughter cells produced as the
result of meiosis are not similar to the
parent cells?

a. 4 cells are produced as the result of

complete meiosis
b. nuclear size is increased
C. crossing over occurs
d. none of the above

148. The combination of a pentose sugar with

a base
a. Nucleotide
b. Nuclei
€. Nucleoside
d. Polynucleotide
149. The residual volume of lungs during rest
or sleep is
a. 1.5liters
o b. 2.5Iliters
c. 3.5liters
d. 4.5liters
150. is involved in lipid
S synthesi
metabolism P Y o

Smooth endoplasmic reticulum

Rough endoplasmic reticulum
Mitochondria
Vacuoles

a0 oo
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151. Rib cage consists of 12

pairs of rib that

articulate with

Thoraicic vertebrae, ten of them connect

anteriorly with sternum
Cervical vertebrae, tan of them connect
anteriorly with stemum

Thoraicic vertebrae, all of them connect
anteriorly with sternum

Cervical vertebrae, all of them connect
anteriorly with sternum

152. Cell suspension cultures of

a
b.
c.
d

Cinchona produces digoxin
Digitalis lanata produce digitcxin
Digitalis lanata produce quii:ire
Bothaand b

153. Fear of getting obese Is termad as:

a. Bilimia nervosa
b. Anorexia nervosa
c. Dyspepsia
d. Obesity
154. Which statement about enzyme is not
true?
a. Enzymes calalyze biochemical reaction
without being utilized.
b. Mostly enzymes consist of proteins 2:: 9
with non-protein parts.
c. All enzymes are fibrous Proteins.
d. Apoenzyme + co-factor = holoenzyme

155. Red flower is a dominant trait whereas
white flower is a recessive trait. But in F2
generation, a pink colored flower was
obtained. Which phenomenon explains

this?
a. Law of independent assortment
b. Law of segregation
¢. Incomplete dominance
d. Testcross
156. The rate of transpiration Is
at lower atmospheric pressure
8. Increased
b. . Decreased slowly
¢. Remained unaffected
d. Decreased rapidly
157. Site of glycolysis:
a. Ribosomes
b. Mitochondria
c. Cytosol
d. Nucleus

158. The cardiac cycle lasts for
a. 1 second
b. 0.6 seconds
¢. 0.8 seconds
d. 0.9 seconds

159. Acid rain is caused by the OXide.
S of

a. carbon and nitrogen
b. carbon and Sulphur

C. nitrogen and Sulphur
d. Allof the above

160. Blood pressure is highest in:

a. Aorta

b. Veins

c. Arteries

d. Capillaries

161. Complete the sentence using the mog!
suitable preposition. :

l'intend to go to London ___ Friday.

At

On

In
Since

ap oo

162. Complete the sentence using the
grammatically correct word or phrase.

| - a report at the moment.

Is Writing
Am writing

a o o
s
=
@
7

163. Select the word or phrase which is

closest in meaning to the underiined
words.

Itis a colossal building.

a. Colorful
b. Huge

c. Small

d. Haunted

which s

hhrase
164, Select the word or § serined

closest In meaning to the un
words,

Due to his timidity he co
on stage.

uld not perfor™

a. shyness

b. Ignorance
c. Bodily Pain
d. Tiredness
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165. Complete the sentence using the most
suitable preposition.

The potice stopped him for driving ..........
120km/h.

a On

b. over
c. In

d.  Within

166. Complete the sentence using the
grammatically correct word or phrase.

................ of the two books is ready to be
published.
a. None
b. Al
c. Not
d. Neither

167. Complete the sentence using the most
suitable preposition.

Tickets for the cricket match are on sale
.......... Wednesday.
a At
b. From
c. For
d Of
168. Complete the sentence using the most
suitable preposition.

Take your mobile ........... of your pocket
and give it to me.

a. off.

b. OQut

c. To

d. Towards

169. The word closest in meaning to Empathy

is

8. Harshness

b. Compassion

c.  Cruelty

d. Charity

170. Select the word or phrase which is

Closest in meaning to the underlined
words, ‘

The dinner conversation was so banal
that he left before we had dessert.

a. Boring

b.  Ordinary

C. Slow

d. ‘nappropriate

171. Veracity most closely refers to

a.  Actuality
b. Mistake
c. Denial
d.  Huge

172. The word closest in meaning to Allay Is

a. Comfort
b. Happy
c. Dispel
d. Calm

173. Immobilize most closely refers to

a. Unimponant
b. Immaterial
c. |Immature

d. Immoveable

174. Select the word or phrase which is

closest in meaning to the underlined
words.

The new mother respited when her baby
fell asleep.

a. Rested

b. Cried

c. Enjoyed
d. Fainted

175. The word closest in meaning to Dale is

a. Tor

b. Lake
c. Hil

d. Valley

176. Select the word or phrase which is

177.

closest in meaning to the underlined
words.

Due to his continuous mischlevous
activities, he has become a rogue
person.

a. Thief

b. Honest

c. Dishonest
d. Sharp

Select the word or phrase which is
closest in meaning to the underlined
words.

He flushed with anger when his father
slapped him in front of ali his relatives.

a. Blackish
Thrilled

b
c. Angry
d. Reddened
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178. Complete the sentence using the
grammatically correct word or phrase.

..... my work last night.

Will complete
Complete
Completes
Completed

179. Complete the sentence using the most

suitable preposition.
He knew everything ............ Lahore
a. inside
b. about
c. into
d. despite

180. Complete the sentence using the
grammatically correct word or phrase.

| have been driving

a

b.
c.
d

Since
From
For
By
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Answer Key

Question Correct
Question Correct  Question Correct Number Option

Number  Option Number  Option

64. c
1. d 31 a . .
2 ® - : 66. a
3 d 33, b o ]
4, d 34, d
68. b
5. b 35. d . )
6. d 36. c 70. s
7. c 37. d " .
8. a 38. b . :
9. c 39, c . .
10. c 40. c ” .
", c 41, d e g
12. d 42. c . .
13. b 43, a - "
14, a 44, b . .
15, c a5, a 2o, .
6. ¢ 46. ¢ 80. c
i . 47. ¢ 81. b
18 ¢ 48. ¢ 82. c
19. @ 49. ¢ 83. d
. ¢ 50. d 84. d
2. b 5. a 8s. b
2 52. g 86. c
2. . 53. b . a
“ ’ 54' ‘ 88. d
2 ° o ¢ 89. a
2. ¢ 6. c 0 .
27, a 57. c
28, b 58. a
29, b 59, d
. . 60. b
61. b
62. a

63. b
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Question  Correct Question  Corrget

Number Option Number Option :':"Glilo" Corregy
Uy O
91. c 127, b i
: 161, b
82, a 128, n 162, 4
83, [ 120, C 103 b
U4 d 130 b 164, "
5. d 131, ¢ 165 b
96 c 132, a 166, d
87. d 133, a 167, b
v, c 134. a 160, b
99 b 135, a 169, b
100, b 136. d 170, b
101. b 137. b 171, a
102, a 136. c 172. a
103, d 139. c 173. d
104, d 140, d 174, a
108, b 141, d 175. d
106. a 142, d 176, ¢
107, a 143. d 177 d
108, e 144, b 178, d
109, d 145, b 179, b
110. b 146, a 180. a
111 b 147, C
112. b b ¢
113, a 148. i
114, b R ?
115, a 189, ?
116. b 102, #
‘11 7. b 15 g
118, a 154. ¢
119, d 160, c
120. d 166. a
121, s 157, ¢
122. ¢ 155. ¢
123, d 150. "
424, b 160. a
126, a
126, 8
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Answers and Explanations

I

Question 1. 2 Correct - d
Number Option
Explanation
We know that

o=FIA

where area A = (11/4) d? = 0.0254m?
putting the value in above
o =1.67x10"Pa

On comparing, we have

Question 5. Correct b

Number Option !
Explanation

Pressure does not affect speed of sound because change in pressure

|
l
’1
changes the densily, so net effect is zero.

A=1.67

Question 2. Correct b
Number i Option
Explanation

When a wave is reflection by a denser medium, it undergoes a phase
change of 180°.

— — S—
Question 6. Correct d :
Number Option
Explanation

Isotopes have same atomic number so they have same number of
protons and electrons. Only the number of neutrons is different.

‘For example carbon atom has two isotopes Carbon-12 and

Carbon-14

So in both of the atoms the number of protons and electrons is
same which is 6. The number of neutrons in C-12is 6 whereas in
C-14itis 8.

Question 3 Correct d
Number Option
Explanation -~

Hook's law states that stress is directly proportional to strain and ratio
of stress and strain is constant.

Question 7= Correct c
Number Option
Explanation

Weber is the unit of magnetic flux.

Question 4, Correct d
Number Option
Explanation

. e

t

A
] '

Given data

t=1m,h=7.5mm
Find the value of & as
tanB©= hA
8 =043
Now using the below formula with m = 3

dsin8=mA
A = 0.0005mm
S

Queslion 8. Correct a
Number Option
Explanation ‘

When magnet leave the solenoid, change in flux is negative from
maximum 10 zero, so the current flow in opposite direction i.e from X
to Y.

Question 9. Correct c
Number Option
Explanation

Speed of sound is maximum in solids because in solids the density is
high, the particles are packed closely together. As a result the energy
transfer is quick so the wave travels faster in solids as compare to the
other two staes.
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\ Quastion R —

et ¢ 3 e "

o - Number Oregy ~
Option b

TR O

N . —————
Explanation \ |

Wae know from Hooke's Law the onarg

Dxolsastion ‘ Y Stored |
- W is given by the area under the Curve of foreg N N a strg od !
N which looks like Hension sranh‘“'
o AN OF IRNAN
Wiy Riak L
» ] kl
ViV e At N
A , |
| gven i o
a=4 l“%:
=T xmekchotping

[RSRECSRN

2a8e V@ = V7 Thus the energy becomes
| We oan cakuiale W= 4K xa
Through the above equation we can find the energy in a sire

S= 0
| . ms—e wire. Notice that in all the oplions E and A is mentioneq which
corresponds to Young's Modulus and area respectively, Therefory |
| Quaston " Comect ¢ we need to find force in from the Young's Modulus eqution: '
Numbar The Young's Modulus is given byt = §75% l
‘g Sxplpnation Where stress is £22ce
5 ' be equal to A.
| Path Jfianance batwaan two consacutive rays must be eq Strain is
T wherelis the extended length and L is the original length.
| Quaston 12, Comect d Substituting these in the Young's Modulus formula we get
Numbar Option F
k= %—
. ) From this equalion now we can make Force the subject which
Kirchho!'s rule states that the sum of the cuments flowing towards comes out to be
& point is equal 1o the sum of all current flowing away from that
Thus both oplion b & ¢ ame comect. Substituting this equation of force in our actual formula of work
done in a strelched wire we get
EAIR
35
SRR S
Question 14, Cormrect 8
Number Option
_———‘---‘-‘_’
Explanation
ation and

First law of thermodynamics is all about energy conser
states that total energy of a system remains constant
Mathematically it is given by ’

AU=Q-w

heat suppied

WhereAUis the change in internal energy Q. is the
ge in in rgy malfado‘sl'“

and W is the wark done by the system against exte

pressure.
4__——-"/
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/::—' Correct c
Question Option

Nymber
—*"/——_———

Elmt Count is defined as the smallest value on the main scale
Leas!

d by the total numbers on the vernier scale

divide!

ai e

I
’ 1]

*

In the above verier caliper the upper scale is the main scale while
he bottom scale is the vernier scale. We can see that the
minimum value on the main scale is 1 mm whereas the maximum

Question 19.

Number opmn

Explanation

When a B particle is emitted out of any nucleus, its atomic number
increase by 1 because electron carries -1 charge with it.the charge
and mass are also conserved.

reading on the vernier scale. is 10, hence our least count will be
1mm/10= 0.1mm

Question 16. Correct c
Explanation

As velocity is increasing uniformly, the slope of the curve which is
acceleration is constant.

Question 20. Correct c l
Number Option !
_l
Explanation
Q=Currentx time= As
l
Question 21. Correct b !
Number Option |
Explanation

If the resistance of a circuit equals to zero, then the current will
increase to infinity.

Question 17 Correct d
Number Option
Explanation

Electromotive force is always measured in volts.
Capacitance is measured in Farads.
Charge is measured in Coulomb.

Force is measured in Newtons.

Question 22. Correct d
Number Option
Explanation

All the incompressible substances have one value of specific heat
capacity.

S
Question 18. Correct c
Number Option
———————

Explanation

wxm it is the ratio of alike quantities.

Question 23. Corect b
Number Option
Explanation

If thers is no changse in velocity acceleration will be zero.
{
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@ Qustn
Question Option il Option e
Number
—_ Explanation
E!ullmﬂﬂﬂd mal pint inthe given numbers is two decimal places, From the definition of entropy; change in energy cong

Gi .

Asm: 'easth; he value 105.30 is the least prescise of the. Hence SmporsiLe. Mher iy
this shows
the answer will also have two dgclmal places. AQ=TS
Question 25. 80:;:::‘ . Question 28. h
Number P Number Option

Change in wavelength means Compton's shift.
We know that

Putting the value of h, mass of electron and speed of light ¢, we
have

Both constructive and destructive interference betwesn twg wa e,

takes place equally when the waves are out of phase by 9.

AL =1.0pm

Question 26. ~ Correct c
Number Option

Explanation

F= mvit

Mass per second = m/t = vol. flow rate x density of water

mA =0.03 x 1000 = 30kg/s

[=30x3=90N

—_
—_—

Question 29. Correct b

Number Option

Explanation

If the body is moving with constant velocity then the accelerzion
will be 0. The body will be moving equal Jistances in equa!
proprtions of time.Hence, if the body covers Xm in 1 second it
would be covering 4Xm in 4 seconds so the relation will be

————

Y=4X
Question 30. Correct b
Number Option
L —
Explanation

Magpnetic force is merely a bending force and it always act
Perpendicular to the direction of motion, so the work done is %
This can also be shown mathematically

W= F X deosg

since the angle is 90 so the work done will be 0.

‘_—’/

Scanned with CamScanner



2
/’;1—- Correct a i
| Questo” Option

numbe!
/—_ !
. l
| ;;phnﬁm |
; gort 1 the UR of blood pressure j
/‘/”—-—

) 32, Correct d
Number '
-—""'—-—-—
v =v2gh

puting all available values gives

v Tm's I
SR

Number Option

Explanation
anefym\pataminmmaﬁmnavigaﬁonbecausethey
can travel through water with high speed and have greater
penetration power.

Queston ar. Correct d
Number Option
Explanation

Steam supply needs 1o be cut off when either the pressure or !
temperature reaches critical limit. Sc OR operation must be used |

Question 38 Correct b i
Number Option .
Explanation

Process of polarization is associaled with transverse waves only anc:
longitudinal waves do not undergo the polarization process because !
their parucies vibrate in the same direction in which the wave travels |

| S—

Question 23 Correct c
Number Opton
Explanation

Ne behaves as an ideal gas because it is small in size and has

least intermolecular forces between s molecules whie due o

large size of molecules of O, and N, Lendon dispersion forces act
between them maiing them mcre noca-deal. In CO, the forces are |
even more prominent cue o its big size

Question 34. Comrect d
Number Option

Explanation

The average translational kinetic energy is writlen as:
T=§-<K.£>

This clearly shows that the average transtational kinetic energy of
a gas does not depends on any specific feature of gas but
temperature,

Question 3s, Correct d
Number Option
Explanation

mwtmwaﬁonal kinetic energy is written as:
T=§<K£>

mMMNme kinetic energy of
Not depends on any specific feature of gas but
temperatrg, Y g

®lthe mentioned gases will have equal K.E.

1

Question 40 Correct c |
Number Opton i
Explanation

As pressure decreases and temp increases the distance between
the moiecules increases and there is no upper Imit on this

between the molecules of a gas

%

Questior,

Wi 38. Correct c
\ om‘ 1
‘M

Saung

WMMU'WM

|
l
i
increase. Hence, at maximum there can be an infinte distance i
|
|

Queston 41 Correct d
Number Option

Explanation |
Power transmitted by water is given as

P =pgQh
where Q is volume flow rate.

Plugging the values, we find

P = 300kW !
Question 42, Cormrect c !
Number Option
Explanation

Thepressumennedbymemdgasisiessmmm.agas |
because the moiecules of real gas themselves have atvactve forces |
in them which decreases the pressure exerted by the gas !
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Question 55. Correct c
Number Option
Explanation

Strategy: This is now the application of all that you learned about
simple gas equations and simple stoichiometry.

Q(s)+ 02 () 0« Oy (9)
initial : 1 mol 2 mols 0 mol
final : 0 mol 0 mol 1 mol

Step 1: Establish the reaction. “Initial® corresponds before the
reaction occurred. “Final” corresponds after the reaction has
occurred.

no . of Q atoms formed : 1 mol x 1 =1
no . of Q atoms formed : 2 mols x 1=2
Therefore , the gaseous compound is QO,

Step 2: Identify the identity of the final product using simple
stoichiometry. This is to prove that you will produce 1 mol after the
reaction.

PV =nRT

In the initial state , onlyO; is gas that contributes the pressure :
In the final state , one mole QO is formed

Pintiat X V = 2 mols x R x 308 K Eq.1

Ppna xV=1molxRx 616 KEq .2

Step 3: Use the ideal gas law to get the initial and final pressure of
the compound which contribute in the change of temperatures in
the same container before and after the reaction.

Step 4: Make the ratio of Eq. 2 to Eq. 1.

£g.2 _ Pfing*V =1 molx Rx 616K
Eq. T~ T’Jnuias" V=2rolsx RX 308K

Cancell V and R since they are constant throughtout the reaction

Question 57.

Number Cormect e
Option
—_—
Explanation T —

Strategy: Relative humidity measures how
present in the air. It is expressed as the rat
exerted by the waler vapor and its vapor p
temperature. To calculate the problem, us

much wate, Vapo
10 between, hg .-‘
ressure gt g Givep

& this formylg
PH;0 = VPH,0(% RH)

d 760 i
% RH Pr 20 x 100%( mm Hy

T6 mm g =60 %
‘\‘\
—
Question 58. Correct 8
Number Option
Explanation

This is a 1° alkyl halide because the C atom attached to halogen
atom is surrounded with 1 alkyl group.

O/\cn

Question 59. Correct d
Number Option
Explanation

Benzaldehyde will form a red precipitation when Brady'’s reagent 8
added. In many experiments, yellow precipitation forms when an
aldehyde doesn't have rings.

///
Question 60. Correct b ;
Number ‘EL/ ;
Explanation '

n b reduced 10

Question 56. Correct c
Number Option
Explanation

The name of the compound is diethyl ether because it has an
oxygen alom connected with two ethyl groups.

/\0/\
L

Wood alcohol or also known as methanol ¢a can bo roduced
aldehyde. Grain alcohol or also known as ethanol i
aldehyde. ///

omrect ’
Question 61. Com
Number Opact

M

Explanation loft ©0 I‘QM 1,‘;1 ‘

iod from i
lonization energy increases across P"nd"":n period 3 ™
the elements in the choices can be fou onizato" oo
right is S. Therefore, it has the highest -

- .n"s i
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Explanation
Nolg) +3 Ha (12NH3 (o) aHo= - 92.6 5%

ing the temperature makes the reaction endothermic and
when this happens the direction of the reaction will chnage from

fight to left 0 make it favorbale.

Question 6r Cttrned 4
Number gt
Explanation

The' ionization increases from down 10 up tha el asd fare et
to right the row. Since all elements in the choices are alual rretale
the increasing trend will be Na<Li<Mg<Ba.

Question 63. Correct b
Number Option
Explanation .

Increasing number of CFC production for industrial use has been a
major contributor for the depletion of ozone molecules in the
stratosphere. When CFC diffuses slowly to the atmosphere in the
presence of UV light between 175nm to 220nm, ozone layer
decomposes. If there is 1 mole of CFCl; (Freon-11) has been
released to the air, the number of moles of oxygen is:

Question 68. Correct b
Number Option
Explanation

This is a 2° alkyl halide because the C atom attached to halogen
atom is surrounded with 2 alkyl groups.

(L

Hydroxyl radical is generated by a series of complex reactions of
ozone with water in the troposphere that are driven by sunlight and
one of the precursors of initiating a tropcspheric reactions.

Question 65. Correct c
Number Option
Explanation

Amino acid can be classified on the basis of a side chain. Alanine
{Ala) belongs to nonpolar amino acid. Aspargine (Asn) belongs
10 polar amino acid. Aspartic acid (Asp) belongs to acidic amino
acid. Arginine (Arg) belongs to a basic amino acid.

——

,,(O T Question 69. Correct d

L ‘g [J’j . Number Option

"aje | o,

’ LAY:U e Explanation
° :" If we compare the acid-base reaction and esterification process, the
end product will always have a small molacule called water.

Question 64. Correct c Question 70. Correct a
Number Option Number Option
Explanation Explanation

Molecular weight of CogsaHyseqNg120a32SsFey: = 2952 (12) + 4664
(1) + 832 (14) +832 (16) +8 (32) +4(56) = 65248 g/mol

6ruc 6
- 2.7x10 RBC 1Et!G X 61,‘!,:3%)(27,9;,1: iI{\(II{(cnolecules)
52 of HG

1
(6022 s8Rl recires X3 mor S G )
= 0079 ¢ HG

=00 mL

per 100 mL : 0:973 HG x100mL = 13§ HG

7.9 § mlIG <135 "" "G Therefore , jimmy is Anemic

Question 66. Correct a
Number _ Option

x

Poliutan 8, sulfur dioxide, and ammonia are primary

Owumn: xcept carbon dioxide. Carbon dioxide is naturally

for plantg 92s. It is not a primary pollutant because It is essential
¥ make food and produce oxygen.

\

Question 71. Correct a
Number Option
Explanation

nded functional groups are attached as substituents by a
and esters have carbony! group
atom connected to two alkyl or

Double-bol
double bond. Aldehydes, ketones,
(C=0) while ethers have have oxygen

aryl groups by a single bond.

rcsm e _bLoad Danprs
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Question 72, Correct b
Number Option
Explanation

Eating the seeds of apple or apricot is deadly because the
amygdalin is broken down by enzymes forming a harmiul by-
product HCN (hydrogen cyanide).

"oﬁo’\:‘ci\-o
OH
0%\ - O, | CN no\_],ca. 0
™ enzyme S Snzyme O""'-n + HCN
\ -
amygdalin L”l _ Dy-?l':t-lm
Question 73. Correct a
Number Option
Explanation

LiAlH, is very reactive in any way and water must be reacted after the
reduction process of the aldehyde. LiAlH4 should be added to
aldehyde under anhydrous condition because it violently reacts with
water. Water is also added after the reaction to protonate the electron
deficient site from the reduction process.

TS

Question 76. Correct b
Number Option

—_—
Explanation

Strategy: First, set a basis by mass in order to calculate the soluts |
present in the solfution. Then from the basis, deduct the Calculaty

mass in order to get the mass of solvent. Then, convert each Mags |
to mols and calculate the mole fractions. |

Basis : 100g of sodium Chloride Solution

mass of NaCl = 0.05 (100g) = 5 g of NaCl

mass of water = 100 g of solution - 5 g of salt = 95 g of water
Molecular weight of NaCl =1 (23)+ 1 (35.45) = 58.45%
Molecular weight of H;0 = 2 (1) + 1 (16) = 18 &,

5
Mole Fraction of NaCl_sﬂ%Sgg =0.016

Mole fraction of water = 1 - 0.016 = 0.984

Question 74. Correct d
Number Option
Explanation

Vitamin By is octahedral. The central atom is cobalt and is
surmounded by a corrin ring system which is a tetradentate. On top
can be 5-deoxyadenosie and below is dimethylbenzimidazole. All
in all have 6 ligands forming an octahedral shape. Therefore the
coordination number is 6.

Question 77. Correct a
Number Option
Explanation

To find %age mass of each atom we need to find the total mass of
the compound and then simply divide the mass of each element
present in the compound by the total mass of the compound

Molecular Weight of YBa, Cuy Oy = 1 (89) + 2 (137) +3(64) +7
(16) = 667 g / mol

% Y by mass= gt x 100= 13%
% Ba by mas= ZQGS,QK x 100=41%
%Cu by mass= Qég%g x 100= 29%

%0 by mass= Zég%g x100=17%

Question 75. Correct d
Number Option
Explanation

Strategy: Multiply the number of students to the mass of samples.
The total must be deducted to the original amount of caustic soda
to get the remaining amount. '

909 - 42(10g) = 489 (+{fif;) = 0.489k¢

Scanned with CamScanner




stion 78. Correct c
S::wber Option
Explanation N ]
catalytic hydmganalion of alkenes exhibit addition reaction.
H H
H ~H Pd/C 5 |
Sc=c’ + Ho —— H-C—C—H
/7 ™~ {
H H H H

Addition reactions occur in an unsaturated compound meaning a
sompound which has & double bond can go addition reactions.
The addition Reactions can be classified into three main

categories
Electophillic addition: In these types of reaction a specie which
accepts an electron pair attacks the electron rich site of the double

bond between carbon atoms. The reaction examples include the
reactions of alkenes with hydrogen halides.

b Nuclsophilic addition: In these types of reaction species which have
elsctron pairs donate to form a chemical bond. These reactions
usually occur in compounds having a carbonyl group like aldehydes
or ketones.

b Free-radical Addition: In these types of reactions non polar molecules
form bounds with unsaturated compounds. These reactions occur

Question 81. Correct b
Number Option

Explanation
The strength of the base determines the mechanism of elimination.
Strong bases favor E2 reactions. Weak bases favor E1 reactions.

Question 82. Correct c
Number Option
Explanation

Carbon Monoxide (CO) has three bonds. To prove it, we can use
the Co-ordinate Cavalent version:

Total number of valence electrones :Té%,‘-,ﬁx 1caotm +

Tg%m" 1 o0 atom = 10e”

Total number of valence electrones in octect :1—8%,0—,,,x 1 C atom
*1‘3%!% x 1 O atom = 16e”

Total of shared electrons : Se‘lgﬂ = 3 covalent bonds

Molecular weight of P4: 4(31) = 124 kg/ mol
Molecular weight of HyPO,: 3(1) +1(31)+4 (16) = 9814&;

P4+50,—P404

Reaction 1 : 1000 kg OF P‘tt kmol;(‘ P4 1 kmol oat Pé‘ 010 -

8.064516129 kmol ofP4O¢o

Actual yield = 0.9 (8.064516129 k mol of P4O1o) = 7. 258064516
kmol ofP,0,,

P‘O1°+ 6 H20“‘ H3p04

Reaction 2 : 7 258064 ?
7. 516 kmol of P,Oyo( FAZG HAERs) 29 .
03225806 kmolH,PO,

\Ctual yield : 0.97 (29.03225806 kmol H3P0O,) = 28.16129032
H3P°4

Production :28.4
:28.16129032 kmolH,PO,(38 ke of 13 PO !
kg o4O, 3 04(—7-;%3%0;4,,,, )2759.81

\‘L

when free radicals are formed. Free radicals are specie that have an Question 83. Correct d

unpaired valence electron. Number Option

Question 79. Correct c Explanatio

Number Option Increase in boiling point indicates a trend in electronegativity and
size. The larger the surface area, the larger the force. The shorter

Explanation the bond length due to electronegativity, the stronger the bond.
Therefore, the increasing trend is CH4<H,0>NH;<HF or it can be

S0z (g) + Oz (g)— SOs ] 4<H2 3

© @ rearranged as CH4< NH3<H;O<HF.

Question 80. Correct c

Number Option Question 84. Correct d
Number Option

Explanation
Explanation

Q water = Q metal

mwaterCwater DT = mmetal Cmetal AT

(8L (35 (1994 mL)) (4.184 28) (30 - 25°C

= mmetal (01358 (900 - 30)°C

mmetal = 1479.75 g

MWmetal = T o mela) = 113752 = 197:2(Gota)

nnn-\- i

Question 85. Correct b
Number Option
Explanation

An ether can be broken down into alcohols if the reagent is strong
enough to break the bond of O atom. A strong acid such as HBr can
break it to form an alcohol and an alky! halide but the ratio should be
1:1. If there's an excess HBr, it will form two alkyl halides and not an
alcohol.
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Exanation

Wy All) + 02(g) = walg)* 2i0U1) BIT= ~623k]

o) s Yoaly) 1z 0U0)

Lst's ansime Vsl fg of tiydraring and

pil = =286k

hydrogen gas Bre used

1 g of Mydruzine ( 1l YL ) = -19.474

1 g of Hydrogan U.“Jféi!”:'g%/,‘fl) = ’143“%

Tharetors tha rockst fuel that has higher performance is hydrogen

gas sinos it has more negative value

- —

Chsestion BT, Correct a
Mot Option
Laplanation

Whan caoxylic acid is reacted with acyl chioride, it forms a
carborylic acid derivative called acld anhydride and small
matecade HCI

g . j
* ——— + Hcl
R (oM a’é"o’é‘
Cuestion 88, Correct d
Numbst Option
LCxplanation

The highes! veriable oxidation stale among all transition metals is
manganese with 7.

—

Question 89. Correct g o
Numbefr Option
—
Explanation
p + N 2+ )
e

Z"Z*(aq) + 23- — ZH(S) EO = —0.76V
N,Z*(aq) + 28- — Ni(S) ﬁo = -0-25V

Zn has more negative value. Therefore, it must occur in the g
node,

— Zn?*(ag)+2¢

Anode: Zn(s)
Cathode:N i2*(ag)+2e — N i(s)

overal:Ni2* +Zn(s) — Zn2* + Ni(s)

-
—

Question 90. Correct b
Number Option
Explanation

AIIW= Lattice Energy +AH hyqr
Lattice Energy =5H nyar 5H sotion™ 4,,% - (-784%’5,) = 788-,,%

100 mols of table salt 28X, = 78800 kJ
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Question 91. Correct c
Number Option
Explanation

fact. carbondioxide is responsibie for usually more than half of the
greenhouse effect. other contributors are CFCs and methane. nitric
oxide also contributes.

Question 96. Correct c
Number Option

Explanation
The floor of the chest is called diaphragm which is a

sheet of skeletal muscles. Diaphragm contracts
during inhalation and expands during exhalation.

—d

Question 92. Correct a
Number Option
Explanation

tetracycline is a class of antibiotics. they are protein synthesis
inhibitors. they inhibit inding of aminoacy! tRNA to ribosome.

Question 97. Correct d
Number Option
Explanation

The main concept of Darwin's theory is extinction of species.

Question 93. Correct c
Number Option

Explanation

: fact

Enterobius vermicularis is also known as pinworm. it causes
intense itching of anus, inflammation of mucous membrane of
colon and appendix. this results in loss of appetite and insomnia.

Question 94, Correct d
Number Option
Explanation

Peroxisomes are small vesicles found around the cell. They have
a single membrane that contains digestive enzymes for breaking
down toxic materials in the cell.

They are responsible for the protection of cells against hydrogen
peroxide by converting hydrogen peroxide to water. peroxisomes
also break down fatty acids to be used for forming membranes and
as fuel for respiration. Peroxisomes hold on to oxidative enzymes.

They differ from lysosomes in the type of enzyme they hold.

Lysosomes are responsible for the digestion of cells.

Question 98. Correct c
Number Option

Explanation

Fact

Sucrose

«a-p-glucopyranosyl S-o-fructofuranoside
Glcla 1«22 5)Fru

Question a9. Correct b
Number Option
Explanation

Enteropeptidase or enterokinase is produced by cells of the
duodenum and converts trypsinogen (a zymogen) into its active form
trypsin, resulting in the subsequent activation of pancreatic digestive
enzymes including trypsin.

Question ‘ 95.

Correct d
Number Option
Explanation

Explanation: human skeleton consists of 2 portions

I. Axial skeleton: made of central axis, includes skull, vertebras, ribs,
and stemum

- Appendicular skeleton: made of limbs and girdles

duestion 100.

Correct b
Number Option
Explanation

Explanation: fact

Aldosterone triggers reabsorption of sodium.
Parathormone triggers reabsorption of calcium
ADH triggers reabsorption of water.

Vasopressin is another name for ADH
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Quastion 101, Carrect b
Number Option
]
Question 102, Comact a
Number Option
Explanation \ !

Food chain does not follow straight path. It is the network of
interfocking food chains. It has no starting point.

Quastion 103. Comect d
Number Option
Explanation

The gene for color blindness is located on X chromasome and the
offspring receives it from mother. Father gives Y chromosome to
his son and X to daughter.

Now, the son gets defected gena from mother but there is no aliele
of color blindness on Y chromosome, so the disease will show and
in this way all the sons wili be color blind.

Comect
Option

definition of totipotent

i

arrangement of cocci

Arrangements of Cocci

coccus ceplococct

O O

Staphylococci

replococcy

umber
‘ Coae 3
| Symplastis he system of i
| . “ernecieq
The neighbonng ceils are POitgiay
) . wh: L T -
c)wm.sfé{mm w:*
i wals. ‘m,‘.mx"’g
i - N
Queston ao*
M- Cpticn 2

theyaras::l’-e«'m:a!i'ﬂ:)t'm.aiIheocheu:pn";ma_.‘cm_r
L8

\

Queston 108. Comect
i Number Opten n
K
Explanation

fragmentation: mycelum breaksdwnimafragre.—mwm
each fragment gives rise 1o new mycelum ‘

budding: buds are produced which are later Separated unicel iz
fungi are reproduced this way inciuding yeats.

Spores are released from sporangia and germinate 1o produce
new hype

eondaa;toﬁaxmhpo!condiophmesamcausempc
colonisation of new food.

L

Question 108,

Comrect
Number Opticn

Explanation
Their outer convex surface of golgi complex is forming face, whie e
nner concave surtace is the maturing face. The cistemae break Lp

into vesicles from the maturing face.
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110. Correct b

Question
Option

Number

Question 111. Correct b
Number Option

—

Explanation

Alired Wallace played an important role in developing the theory of
natural selection. but over the time, Darwin became universally

famous.

Question 115. Correct a
Number Option
Explanation

Once tape worms enters the human body, it is difficult to remove
because it grows again from its head even if rest of the body is
removed. anema along with drugs is given to remove tape worm from
body

Question 112. ~ Correct b

Question 116. Correct b
Number Option
Explanation

Auditory relay center is present in mis brain.

Number Option
Explanation

definationof non disjunction. this may result in several diseases.

non disjunction during mitosis results in occurrence of cancer and
non disjunction during meiosis may result in turner, kieinfelter, or
down syndrome.

Question 17. Comrect b
Number Option
Explanation

Genome is the complete set of genes or genetic material present
in a cell or organism.

Gene pool is the stock of different genes in an interbreeding
population.

Genomic library is a collection of the total genomic DNA from a
single organism.

4 Sy ¢ A
o Syl E€T Ve
o o
——t
R a—
IO i orrJ RN
s arnatipn |+ hwsac: nowde ————
S o - - g g
e — —
Py reaer
IR
I ! 3 §
! ! ) :
- N )
O Ii o 1= { 1-:\.— = -l '_'T: =
-'!“
Question 113. Correct a
Number . Option

Taq polymerase is a DNA polymerase enzyme which is thermostable
Of temperature insensitive. it is extracted from a bacteria, Thermus
8quaticus, which lives in hot springs.

M

-\_
3"“““‘ 114, Correct b
.M

Explanation

DiV o
ergent evolution occurs when two separate species evolve
erently from g common ancestor.

Con .
""tr:eﬂt evolution occurs when species have different
‘estral origins but have developed similar features.

\-—._

Question 118. Correct a
Number Option
Explanation
Simple fact.
Question 119. Correct d
Number Option
Explanation
Fact. Co-enzymes are not proteins. They are derived
from vitamins.
Question 120. Correct d
Number Option
Explanation

They consist of several subunits of tertiary folded proteins, that form a
quatemary protein complex.
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| Question 121. (:orract a
| Number Option
|
|
! .
; in nitrogen fixation, nitrogen is converted to nitrate ions and
| ammonia by nitrogen fixing bacteria.
qawon 122. Correct c
Number Option
Expianation

proteins are formed in cytoplasm. site of protein production is
ribosomes which are present in cytoplasm.

123. . Correct d
Option

QuesSon
Number
Explanation

Explanation: tymph nodes are present in neck region, axilla, and
groin of human.
Lymph node is a mass of connective tissue. Several afferent lymph

vessels enter lymph node which is emptied into single efferent
lymph vessel.

Spleen is a lymphoid mass.

Question 124. Correct b
Number Option
Explanation

They work by regulating the flow of fluid.
Question 125, Correct
Option ?
Em
A release factor js

Question 126

Cur.q
Number Option s
\i'“\
Explanation T ——
Cells ‘\‘“\\N_\
Funcliong .

Parenchymatous  store SUrplus | food

Meristematic produce new cels 107 Growe

developmen! of the ot i ang
Sclerenchymatous give SUPPOIt 10 the pigm

' Chlofenchymawus

Carry out photosynthegis
Xylem Transport water from FOOMS 19 thg =
photosynthesis
Question 127. Correct b -
Number Option
e ——
Explanation

If genetic code is three letters long, then 4% =54 o
codes are possible; for example, AUU, GCG, or UGe

Question 128 Correct 2
Number Option
Explanation

smooth endoplasmic reticulum is involved in lipid synthes:s and
metabolism.

rough endoplasmic reticulum is involved in protein synthes's.

he main job of mitochondria is to perform cellular respiration. Ths
means it takes in nutrients from the cell, breaks it down, and ™
itinto energy.

Question 129. Correct ¢
Number Option
___—-—"‘/
Explanation
Gastric glands are composed ofthreemajor cell types:
1. Zymogenic
2. Parietal

3. Mucous neck cells.

s
. d*‘ ﬁ -
At the base of the gland are the zymogen< :rnd ‘
are thought to produce the enzymes pepsmmn rocy
Pepsin digests proteins, and rennin curdies

/

e
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130. Correct b
Option

flow theory explains the movement of sucrose from

prossi res) o fruit or roots (sink).

jeaves (oY
s on the principle of pressure gradient. The high

Question 133 Correct
Number Option ’
Explanation

Pancreatic juice helps in digestion of major components of food
including fats, proteins, and carbohydrates,

When the acidic chyme reaches the duodenum, the first part of

H R 0
U/
N—C—C
! |7\
H H OH
general structure of amino acid is:
R group can be any alkyl or hydrogen atom.

the most simplest amino acid must have Hydrogen as R group.
glycine Is simplest amino acid.

i
HN -_-(l'.‘— COOH
H
glyeine

—\h_
Question 132. Corect a
Nunbe; Option
x
Exnlanation
w::“’"““e's are animals that do not adjust their internal

ty and are isotonic with their environment.

Osmoreg

U .
lators gre animals that are not isotonic with their

Mvironmeny
intama) goy tand have developed mechanisms to regulate their
U6 and water concentrations.

Memoregy

e mm‘ﬂm’s are animals that have constant body

%m’fhey maintain their temperature despite fluctuating
Conditions,

:::::"""mm are animals that have same tem
perature as
W‘

small intesti .

It wt":‘ma in loaves an 4 low osmotic pressure in fruit causes the Secwtml?::n:. lh:a wa'lls of the intestine secrete a hormone

press the fruit. Ich enters the blood and stimulates pancreas to secre

water and colutes to move towards the fruit pancreatic juice. .

. 131. Corvect c Question 134. Cormect a
Question Option Number Option
Number
—-—""-‘-'--—
I Explanation

Explanation: aorta leads blood to different parts of the body
through arteries. -

Structures and functions of heart

Structure Function
Septum Prevents mixing of oxygenated blood and
deoxygenated blood
frorta Carries oxygenated blood to the organs
et e
P:enr\yonary Carries deoxygenated blood to the lungs

Pu|n;66§f§ vein baMes oiygéﬁatéd blood to the Engs o
|
Superior vena Retums deoxygenated blood from head and arms

cava 'fo the heart

nferior vena :Re{dms de-o';)@é'na'téaﬁazo_d from lower limbs
cava ‘Iand organs to the heart

Question 135. Correct a
Number Option

Explanation

Enzymes are affected by changes in pH and the pH at
which the enzyme is most active - is known as the

optimum pH.
As pancreatic lipase breaks down dietaryfatmolecules in

the human intestinal lumen which has basic.pH, so the
optimum pH of pancreatic lipase is also basic.

e

136. Correct d
Option

Explanation

all the others

Question

j 1 tain
are involved in biochemical reactions and con

eeeed
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:uestm 137. . Correct 5 Question 12 Comract 4
Umber Option Numper Option ;
Explanation | Explanation \
Fact i pscw*.hasan:bmcresis:anummm

! . . . : TRy
! rasm&cxmsanumb.mmwmi_vﬂ

Epiglotts is located behind the tongue above larynx and it

seals off the windpipe during eating to prevent the food f N
Comec

-
i~
w

from inhaling. | Queston ' i c
| Number Opton
Larynx is the voice box. ;
S ! I.
Question 138. Correct Cc Normal urine is composed of greater than 85% of water Om
Number Option . £ Jo g ) ~ OO0
constituents indude urea, chionde, sodum, POlESSium, craas
and cther substances. —,
] Glucose is conserved by the body, Iinever is excreted in o
ribosomal RNA are most abundant. conditions.
mRNA encodes amino acid sequence cof a polypeptide.
tRNA brings amino acids to ribosomes during translation. : 144 Comect b
rRNA with ribosomal proteins, makes up the ribosomes, the Number Opton
organelles that translate the mRNA. !
Explanation
Question 139. - Correct c FactIncsine is commonly found in tRNAs and is essental &
Number Option proper transiation of the genetic code in wobble base pairs
S 0
Explanation \'."‘;/\N” <_~\“/\,H ‘ c
bacilli and spiral shaped bacteria have flagella. o NP Ny (N\i/\.‘g-
) HO-P-0— o | Mo o | NN
coci rarely have flagella. oM K 7( v M
OH CH OH OH
Question 140. Correct d
Number Ot Inosine monophosphate Incsine Fypczanthre
Explanation
Definition. . DNA s aiso . DNA. Question 145, Comect b
Recombinant called chimeeric Number Option
Question
141. Oomd d Explanation
Novber Option
Galibladder does not secrete any enzyme. It stores and
concentrates bile by absorbing water and electrolytes
- . . __——__,-/
MMMMWmWMM "1
of antibodies that are proteins. ‘
transport protei . Question 146. Corect s
o cate proteins help in transport of molecules inside and outside Number Option
e __-——-/
proteins in the form of enzymes catalyse reactions. Explanation

in

The rough endoplasmic reticulum is where mostprote it 189 ¥

synthesisoccurs in the cell. Ribosomes are organelies &=
thesynthesisofproteins. !heyaraauad\odwRER“mr 5®
W.mmdmmmmmf:
Syr\mm&ipidshmwl.mMERde“

detoxification of harmful substances in the cel -
—

Mwhhfomdn feotides not proteins,
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nucleoside = sugar + nitrogenous base

nucleotide = nucleoside + phosphate group

147. Correct c uestion
: X 152. - on
question Option Number C--jed b
purmber Option
;;nlln‘mn Explanation
. crossing OVer, chromosomes pair up with each other and fact
Dums:‘ o ifferent segments of genetic material to form recombinant
exchd i is not similar t Cell i :
Wes. recombinant DNAis imilar to parent DNAs. oo SlfSpenSIon cultures of Cinchona produces quinine and
igitalis lanata produce digitoxin
ﬁ Correct c )
Que ! Option Question 153. Correct b
Numbe! Number Option
L
Expignation Explanation

Anorexia nervosa is the psychological disorder in which patient
fears of getting obese.

[
Question 149. Correct d
Number Option
Explanation

In an adult human, the total capacity of lungs is 5 liters. The
residual volume of lungs during rest or sleep is 4.5 liters because
normally when we are at rest or sleeping, the exchange of gases is”

Question 154, Cormrect c
Number Option
Explanation

All enzymes are proteins but not necessarily fibrous proteins. Most
enzymes are globular.

smooth endoplasmic reticulum is involved in lipid synthesis and
metabolism,

fough endoplasmic reticulum is involved in protein synthesis.

he ’“ai'-'jOb of mitochondria is to perform cellular respiration. This
means it takes in nutrients from the cell, breaks it down, and turns
tinto Qw‘

only about half a liter. Question 155. Cormect c
Number Option
Question 150. Correct a Explanation
Number . Option Genotypic and phenotypic ratio will remain same in F2 generation.
Incomplete dominanceis a form of intermediate inheritance in
Explanation which one allele for a specific trait is not completely expressed

over its paired allele. This results in a third phenotype in which the
expiassed physical trait is a combination of the phenotypes of both

-\h
.\;
N ion 151. Correct a
Option
—

Explang

“"Oraicscbom Rib cage consists of 12 pairs of rib that articulate with
tither gj Vertebrae. 10 of them connect anteriorly with sternum
fy or through costal arch.

The
'oWer 2 b pairs are fioating ribs.

Rib )
999 Provides support to chest cavity.

\

rate of transpiration.

alleles.

L
Question 156. Correct a
Number Option
Explanation

When atmospheric pressure is low, the rate of diffusion of water
molecules from the surface of mesophyll cells, air spaces, and
through stomata to outside the leaf increases. This increases the

|

Question

Explanation
Fact -

157. Correct c
Option
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Question 158 Corect -

i I —
| Exglanation

E events that occUrs

!

. ~F
Explanation: cardias Cycle is the sequence &

- Al is used with particular 7 points of clock dayorweek f

| when heheartbeats. There are two phases. I & sts of 3 phas Usage: | will eat lunch at 1 pm.
l ‘ E n 2
"1.R&xaﬁcnptase-d=as:a‘a-uafsdbea=‘;ard-a!am°'°°d - On is used with days 1o refer 1o one occasion,
i reaches 2ta N .
! . . - ia and yenincies are Usage: | will wear a suit on your weddin
e - .._3;-_3-g-5m_booclaa~'9:‘.aua « g. ‘
%MBW y ' ' ' | |
| Shec m’sm_ﬁmwmmw -Imsus.edtm:!escnbesomeu-nngu-.ag,_.-,el.,c,ow1 |
3. Veninces conial — verd ’ i
| are wansporzd o the whoie body Usage: Put your mobile in your pocket. |
| Oe cycle compietes i1 0.8 seconds - Since is used when the starting point of something is gvey, |
} -
{ Usage: He has been waiting for you since morming, {
|
Quession 158, Correct ¢ The suitable option is on as it refers o an occasion.
x\;
z x
Expiangiion Question 162 Correct d
Netrogen and sulphur cxides give nise o a0 rain. Number Option
The byprocucts of industrial bumning of coal and fossd fuels are —
oxides of nitagen and sulphur which combine with water in the Explanation

| atmesphere o give rise o 2cd rain. Acd rain is particularly
harméud 1o aqualic [Fe.
Queston 160. Correct a
Number Cption
Explanation

Explanation: Blood pressure is highest as its leaves theleft
veniridethrough theaortawhen heart contracts. It gradually
m;nmmmmmm-
aneries arierioles, and capilanes.

-Al the moment indicates you need to use present progressive, the
use of “am” is necessary here. *I' is used with am whereas
he/she/it is used with is.

- Whrites is used with a singular noun which isn't the case above.
For example: He writes.

- Since it is a present continuous tense and we use verbting (wit l
ing) in present continuous tense but “writing” cant be used without
‘am’ therefore, Am writing is the most appropriate choice.

Question 163. Correct b
Number Option
Explanation

- Colosal means extremely large.

-Colorful is something rich in colors.
-Huge means big in size.
-Small means tiny.

-Haunted means inhabited by ghosts. |

Therefore, option B is the most appropriate.

-
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— 104, Corracl n

uestion Option
'Niw//__.___,_,_m.“,_, e ———
gnlln'"’n

igity means (o lack confidence.
Tim

is o feel nervous or confuso.

Quastion 157 Correct b
Number Option
Exnlanation

Ny Y
Praposition “at* Is use 1o point out spacific time.

= Praposition *for” Is commonly used Lo indicale a roason for
somalhing, also for duration and for exchanga,

- Praposition *of” indicates relationship between part and whole,
- Praposlition *from” indicates the origin or the starting point,

Therofore, from is an appropriate preposition o fill in the blank,

- Is::)ranl is 8 person who lacks knowladge and wisdom.
::odily pain here implios any physical pain in any part of the body.
. Tirednoss is the feoling of woariness, which causes lothargy.
Therefore, option A 18 the most appropriate.

mr 185. Correct b
o Option

Explanation

-Preposition "on” is use to express a surface of something or used
{o refer 1o dates or occasions,

Sample sentence: / am sitting on a chair.

- Preposition "in” is used for unspecific time during a day, a month,
ayear or to talk about where something is in relation to a larger
area around It.

Sample sentence: Put my mobile in your bag.

-Prspositlon “within® is used to imply Insnda of or not further than a
goographical boundary.

Sample sentence: The fake lies within the city.
- Preposition “over” here implies greater than a particular number.

Sample sentence: The meeting had an attendance of over 20
people.

Hence overis the most appropriate preposition to fill in the blank.

s

Queslion 168. Correct b
Number Option
Explanation

-Preposition “off” means away from.
Sample sentence: He ran off from the scene.

- Preposition “out” indicates. Movement form within something or
somewhere.

-

Sample sentence: Get out from my room, he shouted.

- Preposition “to” indicates the direction or position, indicates the
receiver of an action and used in telling the time.

Sample sentence: This parcel is for yo..

- Preposition “towards” describes a movement in a direction or
position.

Sample sentence: / was moving towards him when he ran away.

Hence, the best choice is B

—~————

Question 166. Correct d
Number Option

———
Explanation
When the sentence taiks about two subjects, we use neither.f

are more than two subjects, we use none. All is also used for

\.\.\

Question 169. Correct b
Number Option
Explanation

- Empathy means to understand other's feelings.

-Harshness is being rude.

-Compassion is to have a sense of sympathy for other people.
-Cruelty means the quality of being cruel and heartless.
-Charity is to give benefits to public.

Hence,compassion is the suitable answer to empathy.

Synonym I ... . O—
T ity kindness, niceness
- "ammosury tyrany
nsnderale gentle

e AW nderanoe. injury |

I
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| Queston 170 Corect
A Option
[ Numbder
|
.
Ranal means something that has peen done many times and has

hecome ondinary.

- Boring means something that is very dull.

Sampie sentence: ltwaswha:dtospendwnewithhim, heis

such a boning man.

means something that has becoms very common.

‘ e nothing special, it's an ordinary

(! “\\
Question 173. Soirec ~—
Number d \i

Immobilize means lack of movement, i
-Unimportant means lacking significance. ‘
-Immaterial means unimportant or irrelevant in '
2 particyla, |

Conter |

!

|

-

-Immature means emotionally underdeveloped.
-Immovable means lack of motion, prevention of moveme
nt.

Therefore, option Dis most appropriate.

Sample sentence: You are weanng J‘
dress everyone has it Word Synf_nym — !
_Siow means not moving quickly. lUnimportant frivolous, trivial \.4
Sample sentence: | ask him to slow down, ho was driving S0 fast it mmaterial _ extraneous, impertinent
scared me. rrr_\r_n_ayp unripe, unfledge |
Jnappropriate means something which is unsuitable. Jmmovable mpassive, motionless ‘_I \
Sample sentence: He was using inapproprate languege while his T
Mvad,wMashmRis. Question 174, Coied
Hence,ordinary is the suitable answer. Number Option
d
Queston 171. Comct Explanation
- Respited means to rest or relief.
Explanation -Cried means to weep.
Veracity means conforming to truth, reality and fact. -Fainted means to pass out.
) y RSy OE Goossice. -Enjoyed means to rejoice something.
nsi Hence, rested is the suitable answer to respited.
-Denial is to dencunce i i
something that is said or believed. (Nord Synonym -~
-Huge means gigantic. Respited efer abate accuse, charge |
Therefore, actualityis the most . Fainted ack out, succumb sscand improve |
' most appropriate synonym. Enjoyed  Bppreciate, savor dislike, detest |
.!s""""'“ Antonym
Actuality  fact, T -
Denial huu:“,,,ny o plo, faflore Question 175. Correct d
Foge ; ; sanction, affim Number Option
Lolossal, immense dwarf, miniature .
Explanation
Question 172 Dale means an open river valley.
Number ’
Option -Tor.means a prominent rock.
Explanation -Lake means a body of water surrounded by fresh water
-Altay ia to comfort or soothe someone. -Hill means a well-defined elevation of land.
- M a rans
means to disperse. -Valley means a long depression in surface of land that &
- Comfort means 1o ease someone. — !
- Calm means to be peacefyl Therefore, word Vallayis the symﬂiimjl’//_f: i
" PPy means to enjoy or feel pleasure Word — Synomym
So comfort ’ 1.’.°f,__,____ N dovltnon poak I ‘!
bhnmmbm_ Jake laqoonpond \ f
———— i Wune.a! — 1}’
Valley basin, canyon "} 1
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176. Correct c

question Option

/‘
person who Is dishonest and unreliable.

_Rogue i@
rson who steals from other people.

is not disposed to cheat.

-nief 8 8
sﬁsmeonewm
) Ibmommlsafraudandunmliablo.

shampis the
sod 1mmhgg;uittll:’leanswer.

one who is smart and clever.

- Preposition “despite” is use 10 ex

| —
r’/" . 177. Correct d
Numbef
A

Explanation
Flushed means redness of face.’

_ Backish means something that Is black.
. Thrilled means to get excited.
- Angry means to get annoyed.

.Reddened means when the cheeks become red with blood due
to emotions. :

So reddened is the most suitable answer. In such questions try to
understand the contextual meaning of the phrase, it helps to
identify the correct word. For example, in sentence above the boy
was slapped which made him angry, it becomes evident that after
being siapped his face turned red. :

Question 178. Correct d

Number Option

Explanation

s a simple past tense, so we use second form of the verb.
» completed Is the right choice.

~Complets can be used in simple present terse.

Wil Complete can be used in simple present tense.
Psecompletaswith singular, like He, She, It.

\

o ) plain that one thin
prevent the other thing yet the other thing happenzdwas prései
So the best choice is B,
Question 180. Correct a
Number Option
Explanation

- Since is also used when starting time is given but no specific time
period like 1 hour, 1 day, 1 year.

- Fnbfn is used when a staring point is given.

- The main difference between the use of since and for is thatsince
is used for an action that started but it has not yet finished,
whereas for Is used for a finished action or of action.

For example (since and when):

- | have been waiting since 3 hours.

- | will have to wait for 3 hours.

- By is used to identify the proximity.

Usage: His house is located by the forest.

- For is used to show to whom something is intended.
Usage: These tickets are for you.

Hence,Since is the right choice.

e
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